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1k
FREERI O R (B — 7 e 25
P LA AR AL
s | Gan | o | Gew |0 it
LRSS m /4 172,445,074 165,046,178 170,409,408 182,746,296 182,790,281
L1 A %‘%%% i/ Ik 51,781 57,551 57,927 57,852 57,759

R T e P B /I 1,624 1,712

A1 (%) % 3.1 3.0

GREIE T3 m /4

e i/ Ik

ELE TS i/

EE 7] (%) %o

R B A m /4

FERE i/ Ik

AR R OR /R

EE 7] (%) %o

TR i /4 172,445,074 165,046,178 170,409,408 182,746,296 182,790,281
= L m /¢ 51,781 57,551 57,927 57,852 57,759
o AT B i/ 1,624 1,712

T (%) % 3.1 3.0




B2
e N G
FEFA T AR St
T XHT AT 44 fi] [ L7 AR X A7 B X S i 450.8 ki
HENEE e (R b 3L 324
% I DB kit 65.3 65.3 65.3 65.3 65.3
o | BERE PIN — At AR I 110,425 111,451 112,489 113,535 114,590
Tif ey | AR e 63,365 63,782 63,989 64,176 64,232
E HAA=E = S pipee i O % 100.5 100.7 100.3 100.3 100.1
S b Al ) R % 57.4 57.2 56.9 56.5 56.1
p— m 757,150 765,279 772,632 780,531 787,922
S AITAR L i OV % 101.0 101.1 101.0 101.0 100.9
T RCHT AT 44 HrfiE) | AT B X B T A 450.8 ki
BN e o) i SR B2
g s X 3ok e kit 0.3 0.3 0.3
it | S DN — A AL I 380 382 384
IX“ A I A A— 2 — R BRI | 17 18 19
Al S S TR S PVES % 4.5 4.7 4.9
BEIER m 1,160 1,160 1,160
17 XA 4 fi] 1L i A X AT B K Sk i 450.8 ki
i e o) i) BRI 321
% | X R ku 65.3 65.3 65.6 65.6 65.6
jf PG XIN —fl T 2% Il 110,425 111,451 112,869 113,917 114,974
E S IR A AA— S — AR FER U2 | {8 63,365 63,782 64,006 64,194 64,251
B e X a4 A B R % 57.4 57.2 56.7 56.4 55.9
HEER m 757,150 765,279 773,792 781,691 789,082
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HEAL ] (U ARt

7 XA 4 ] (L7 o X AT B X I AR 51.3 ki
RANEE e (R b B 324
% b Xk kit 41.2 41.3 41.3 41.3 41.3
o | BERE PIN — At AR I 63,727 64,613 65,510 66,420 67,344
?E ey | AR e 26,468 26,641 26,733 26,811 26,830
ig HAA=E = S pipee i O % 100.5 100.7 100.3 100.3 100.1
| it It P 42 fA 3 B R % 41.5 41.2 40.8 40.4 39.8
p— _ ‘ m 481,560 484,711 487,834 491,470 495,345
S AITAR L i OV % 101.2 100.7 100.6 100.7 100.8
T RCHT AT 44 AT B X B T A 51.3 ki
BN e o) i SR B2
g e D i Kt
it | S DN — A AL Il
IX“ A I A A— 2 — R BRI |
Al S S TR S PVES %
BEIER m
17 XA 4 fit] | 11 77 e X AT B K Sk i 51.3 ki
i e o) i) BRI 321
% | X R ki 41.2 41.3 41.3 41.3 41.3
ﬁ PG XIN —fl T 2% Il 63,727 64,613 65,510 66,420 67,344
&; S IR A AA— S — AR FER U2 | {8 26,468 26,641 26,733 26,811 26,830
B | PN A Ao B % 41.5 41.2 40.8 40.4 39.8
HEER m 481,560 484,711 487,834 491,470 495,345




HEAL ] (U ARt

T XHT AT 44 ] | L1 77 AR X A7 B X S i 160.4 ki
RANEE e (R b 314 324
% b Xk kit 4.9 5.2 5.2 5.2 5.2
o | BERE PIN — At AR I 7,076 7,646 7,730 7,815 7,901
Tif sy | FEEREUS 2K 1 1,376 1,385 1,390 1,394 1,397
E HAA=L = |seppiihe e Ovg % 101.7 100.7 100.4 100.3 100.2
| it It P 42 fA 3 B R % 19.4 18.1 18.0 17.8 17.7
— _ ‘ m 59,460 63,266 65,513 65,812 66,130
S AITAR L i OV % 103.0 106.4 103.6 100.5 100.5
T RCHT AT 44 AT B X B T A 160.4 ki
W [T Gt L) B SRR BRI
T | s ik Kt
il e E
le BEARIX A 1 2 A— 2 — 4 R B | 1
fo | LS DI AR R %
BEIER m
X HETAT 44 ] L1 77 BRI AT B X3 i A 160.4 ki
i e () i) BUFIL 321
% | X R ki 4.9 5.2 5.2 5.2 5.2
ﬁf HE AN — i Il 7,076 7,646 7,730 7,815 7,901
E AR DX I8 N T A A— S — 4R R B[ {8 1,376 1,385 1,390 1,394 1,397
B | PN A Ao B % 19.4 18.1 18.0 17.8 17.7
HEER m 59,460 63,266 65,513 65,812 66,130
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HEAL ] (U ARt

T XHT AT 44 ] L1 7 e X A7 B X S i 127.4 i
RANEE e (R b B 324
% b Xk kit 34.7 34.7 34.7 34.7 34.7
o | BERE PIN — At AR I 47,100 47,491 47,885 48,282 48,682
?E sy | FEEREUS 2K 1 13,027 13,112 13,157 13,195 13,206
1§ HAA=L = |seppiihe e Ovg % 99.9 100.7 100.3 100.3 100.1
| it It P 42 fA 3 B R % 927.7 27.6 927.5 27.3 27.1
p— _ ‘ m 312,248 314,802 316,584 318,854 321,274
S AITAR L i OV % 101.0 100.8 100.6 100.7 100.8
T RCHT AT 44 AT B X B T A 127.4 i
W [T Gt L) B SRR BRI
T | s ik Kt
f [P R E
le BEARIX A 1 2 A— 2 — 4 R B | 1
fo | LS DI AR R %
BEIER m
i XHT R 4 ] 111 77 7 X AT B I FE 127.4 ki
i e () i) BUFIL 321
% | X R Kt 34.7 34.7 34.7 34.7 34.7
ﬁ HE AN — i Il 47,100 47,491 47,885 48,282 48,682
E AR DX I8 N T A A— S — 4R R B 13,027 13,112 13,157 13,195 13,206
B | PN A Ao B % 97.7 27.6 97.5 97.3 27.1
HEER m 312,248 314,802 316,584 318,854 321,274




HEAL ] (U ARt

T XHT AT 44 [ (LT & 5T A7 B X S i 789.9 ki
RANEE e (R b B 324
% I DB kit 146.1 146.5 146.5 146.5 146.5
o | BERE PIN — At AR I 228,328 231,201 233,614 236,052 238,517
Tif ey | AR e 104,236 104,920 105,269 105,576 105,665
E HAA=E = S pipee i O % 100.5 100.7 100.3 100.3 100.1
| it It P 42 fA 3 B R % 45.7 45.4 45.1 44.7 44.3
p— m 1,610,418 1,628,058 1,642,563 1,656,667 1,670,671
S AITAR L i OV % 101.1 101.1 100.9 100.9 100.8
T RCHT AT 44 AT B X B T A 789.9
BN e o) i SR B2
T et = e kit 0.3 0.3 0.3
ﬁi@ PR DB N — iR A I 380 382 384
IX“ A I A A— 2 — R BRI | 17 18 19
Al S S TR S PVES % 4.5 4.7 4.9
BEIER m 1,160 1,160 1,160
17 XA 4 fi] | 11 A E AT B K Sk i 789.9
i e o) i) BRI 321
% | X R Kt 146.1 146.5 146.8 146.8 146.8
jf PG XIN —fl T 2% Il 228,328 231,201 233,994 236,434 238,901
E S IR A AA— S — AR FER U2 | {8 104,236 104,920 105,286 105,594 105,684
B e X a4 A B R % 45.7 45.4 45.0 44.7 44.2
HEER m 1,610,418 1,628,058 1,643,723 1,657,827 1,671,831




HoFk
e R G
FERA LT AR S
T XHT AT 44 IREE T A7 B X S i 209.4 ki
RANEE e (R b 3L 324
% b Xk kit 6.8 6.8 6.8 6.8 6.8
o | BERE PIN — At AR I 9,386 9,532 9,686 9,848 10,021
?f sy | FEEREUS 2K 1 5,818 5,856 5,876 5,893 5,901
ig HAA=L = |seppiihe e Ovg % 100.1 100.7 100.3 100.3 100.1
| it It P 42 fA 3 B R % 62.0 61.4 60.7 59.8 58.9
— m 162,617 162,742 162,742 162,742 162,742
S AITAR L i OV % 100.6 100.1 100.0 100.0 100.0
T RCHT AT 44 AT B X B T A 209.4 ki
W [T Gt L) B SRR BRI
T | s ik Kt
il P e =
le BEARIX A 1 2 A— 2 — 4 R B | 1
fo | LS DI AR R %
BEIER m
i XHT R 4 AREETH AT B I FE 209.4 ki
i e () i) BUFIL 321
% | X R ki 6.8 6.8 6.8 6.8 6.8
ﬁ HE AN — i Il 9,386 9,532 9,686 9,848 10,021
E S IR A A A— & — AR RIS | 1 5,818 5,856 5,876 5,893 5,901
B | PN A Ao B % 62.0 61.4 60.7 59.8 58.9
BEIER m 162,617 162,742 162,742 162,742 162,742




B2
e R G
FERA LT AR S
T XHT AT 44 EBFH A7 B X S i 103.6 ki
RANEE e (R b B 324
% b Xk kit 0.2 0.2 0.2 0.2 0.2
o | BERE PIN — At AR Il 523 519 515 511 507
F% ey | AR (i 309 308 307 306 305
E HAA=L = |seppiihe e Ovg % 99.0 99.7 99.7 99.7 99.7
| it It P 42 fA 3 B R % 59.1 59.3 59.6 59.9 60.2
— _ ‘ m 5,665 5,665 5,665 5,665 5,665
S AITAR L i OV % 100.0 100.0 100.0 100.0 100.0
T RCHT AT 44 AT B X B T A 103.6 ki
BN e o) i BURIE B2
T | s ik Kt
il ey, =
IX“ A I A A— 2 — R BRI |
fo | LS DI AR R %
BEIER m
IR E EBf AT B X3 i A 103.6 ki
i e () i) BUFIL 321
% | X R ki 0.2 0.2 0.2 0.2 0.2
P& 1t st — it s = 523 519 515 511 507
}§ S IR A A A— & — AR RIS | 1 309 308 307 306 305
B | PN A Ao B % 59.1 59.3 59.6 59.9 60.2
HEER m 5,665 5,665 5,665 5,665 5,665




HEAL ] (U ARt

7 XA 4 fi] | L1 4 X5 5 AT B X I AR 1,102.9 i
RANEE e (R b B B2
% I DB kit 153.1 153.5 153.5 153.5 153.5
o BRI — i AT AL I 238,237 241,252 243,815 246,411 249,045
Tif Ha gy | E AR AL (6 110,363 111,084 111,452 111,775 111,871
E HAA=E = S pipee i O % 100.4 100.7 100.3 100.3 100.1
| it It P 42 fA 3 B R % 46.3 46.0 45.7 45.4 44.9
p— m 1,778,700 1,796,465 1,810,970 1,825,074 1,839,078
S AITAR L i OV % 101.1 101.0 100.8 100.8 100.8
T RCHT AT 44 AT B X B T A 1,102.9 ki
BN e o) i SR B2
T et = e kit 0.3 0.3 0.3
ﬁi@ PR DB N — iR A I 380 382 384
IX“ A I A A— 2 — R BRI | 17 18 19
Al S S TR S PVES % 4.5 4.7 4.9
LR m 1,160 1,160 1,160
17 XA 4 fi] | L1 1 X5 F AT B K Sk i 1,102.9 ki
i e o) i) BRI B2
% | X R Kt 153.1 153.5 153.8 153.8 153.8
jf PG XIN —fl T 2% Il 238,237 241,252 244,195 246,793 249,429
E S IR A AA— S — AR FER U2 | {8 110,363 111,084 111,469 111,793 111,890
B e X a4 A B R % 46.3 46.0 45.6 45.3 44.9
HEER m 1,778,700 1,796,465 1,812,130 1,826,234 1,840,238




B2
W e I
FEFA T AR St
i KT A4 V=t Qi AT BRI T A 354.7 ki
RANEE e (R b 3L 324
% b Xk kit 61.2 61.2 61.2 61.2 61.2
o | BERE PIN — At AR I 70,567 71,519 72,480 73,454 74,441
Tif sy | FEEREUS 2K 1 29,071 29,218 29,280 29,330 29,373
E HAA=L = |seppiihe e Ovg % 100.3 100.5 100.2 100.2 100.1
| it It P 42 fA 3 B R % 41.2 40.9 40.4 39.9 39.5
R m 600,134 609,020 617,247 625,469 633,245
S AITAR L i OV % 101.4 101.5 101.4 101.3 101.2
T RCHT AT 44 AT B X B T A 354.7 ki
BN e o) i BURIE SR
T | s ik Kt
il P e =
le BEARIX A 1 2 A— 2 — 4 R B | 1
fo | LS DI AR R %
BEIER m
X HETAT 44 =i AT B K Sk i 354.7 ki
i e () i) BUFIL 321
%[BT R ki 61.2 61.2 61.2 61.2 61.2
jf HE AN — i Il 70,567 71,519 72,480 73,454 74,441
E AR DX I8 N T A A— S — 4R R B 29,071 29,218 29,280 29,330 29,373
B | PN A Ao B % 41.2 40.9 40.4 39.9 39.5
HEER m 600,134 609,020 617,247 625,469 633,245
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HoFk
e K F
FERA LT AR S
T XHT AT 44 el A7 B X S i 212.0 ki
RANEE e (R b B 324
% b Xk kit 0.1 0.1 0.1 0.1 0.1
o | BERE PIN — At AR Il 228 228 229 230 231
F% ey | AR (i 111 111 111 111 111
}; HAA=L = |seppiihe e Ovg % 97.4 100.0 100.0 100.0 100.0
| it It P 42 fA 3 B R % 48.7 48.7 48.5 48.3 48.1
— _ ‘ m 2,781 2,781 2,781 2,781 2,781
S AITAR L i OV % 100.0 100.0 100.0 100.0 100.0
T RCHT AT 44 AT B X B T A 212.0 ki
T | s ik Kt
il ey, =
IX“ A I A A— 2 — R BRI |
s (BRI A R K R %
BEIER m
IR E it AT B X3 i A 212.0 ki
i e o) i) BUFIL 321
% | X R ki 0.1 0.1 0.1 0.1 0.1
P& 1t st — it s = 228 228 229 230 231
E A IR N T A A— 5 —4E R gk | 111 111 111 111 111
B | PN A Ao B % 48.7 48.7 48.5 48.3 48.1
HEER m 2,781 2,781 2,781 2,781 2,781
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HEAL ] (U ARt

7 XA 4 HREERR L BT AT B X I AR 7.6 ki
HENEE e (R b 3L 324
% b Xk kit 4.7 4.7 4.7 4.7 4.7
o | BERE PIN — At AR I 2,403 2,430 2,458 2,487 2,514
Tif Ha gy | E AR AL i 260 307 323 328 334
E HAA=E = S pipee i O % 111.6 118.1 105.2 101.5 101.8
| it It P 42 fA 3 B R % 10.8 12.6 13.1 13.2 13.3
— _ ‘ m 28,884 31,024 31,024 31,024 31,527
S AITAR L i OV % 106.7 107.4 100.0 100.0 101.6
7 X T A4 FLE | A AT B I A 7.6 ki
BN e o) i SR B2
T et = e kit 0.5 0.5 0.5
gl [N TRy = 716 723 71
IX“ A I A A— 2 — R BRI | 24 56 104
fofp |G PRI A e % 3.4 7.7 14.2
LR m 1,713 3,500 4,697
17 XA 4 HRFERR BT AT B K Sk i 7.6 ki
i e () i) BRI 321
% | X R ki 4.7 4.7 5.2 5.2 5.2
ﬁf PG XIN —fl T 2% Il 2,403 2,430 3,174 3,210 3,245
E AR DX I8 N T A A— S — 4R R B[ {8 260 307 347 384 438
B | PN A Ao B % 10.8 12.6 10.9 12.0 13.5
HEER m 28,884 31,024 32,737 34,524 36,224
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HEAL ] (U ARt

7 XA 4 A XA E AT B X I AR 574.3 ki
RANEE e (R b B B2
% I DB kit 66.0 66.0 66.0 66.0 66.0
o | BERE PIN — At AR I 73,198 74,177 75,167 76,171 77,186
Tif Ha gy | E AR AL (6 29,442 29,636 29,714 29,769 29,818
E HAA=E = S pipee i O % 100.4 100.7 100.3 100.2 100.2
| it It P 42 fA 3 B R % 40.2 40.0 39.5 39.1 38.6
p— _ ‘ m 631,799 642,825 651,052 659,274 667,553
S AITAR L i OV % 101.6 101.7 101.3 101.3 101.3
T RCHT AT 44 AT B X B T A 574.3 ki
BN e o) i SR B2
T et = e kit 0.5 0.5 0.5
il P e = 16 723 71
IX“ A I A A— 2 — R BRI | 24 56 104
fofp |G PRI A e % 3.4 7.7 14.2
LR m 1,713 3,500 4,697
17 XA 4 BBHX A AT B K Sk i 574.3 ki
N e o) i) 3L B2
?&u Pk DXk i F ku 66.0 66.0 66.5 66.5 66.5
jf PG XIN —fl T 2% Il 73,198 74,177 75,883 76,894 77,917
E S IR A AA— S — AR FER U2 | {8 29,442 29,636 29,738 29,825 29,922
B e X a4 A B R % 40.2 40.0 39.2 38.8 38.4
HEER m 631,799 642,825 652,765 662,774 672,250
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HEAL ] (U ARt

i X BT 44 fit] | LI T A5 F AT B X I AR 1,677.2 ki
RANEE e (R b B B2
% I DB kit 219.1 219.5 219.5 219.5 219.5
o | BERE PIN — At AR I 311,435 315,429 318,982 322,582 326,231
Tif Ha gy | E AR AL (6 139,805 140,720 141,166 141,544 141,689
E HAA=E = S pipee i O % 100.4 100.7 100.3 100.3 100.1
| it It P 42 fA 3 B R % 44.9 44.6 44.3 43.9 43.4
p— m 2,410,499 2,439,290 2,462,022 2,484,348 2,506,631
S AITAR L i OV % 101.2 101.2 100.9 100.9 100.9
T RCHT AT 44 AT B X A 1,677.2 i
BN e o) i SR B2
T et = e kit 0.8 0.8 0.8
i [P IR = 1,096 1,105 115
IX“ A I A A— 2 — R BRI | 41 74 123
Al S S TR S PVES % 3.7 6.7 11.0
BEIER m 2,873 4,660 5,857
17 XA 4 [i] (LI A& 5 AT B K Sk i 1,677.2 ki
i e o) i) BRI B2
% | X R Kt 219.1 219.5 220.3 220.3 220.3
jf PG XIN —fl T 2% Il 311,435 315,429 320,078 323,687 327,346
E S IR A AA— S — AR FER U2 | {8 139,805 140,720 141,207 141,618 141,812
B e X a4 A B R % 44.9 44.6 44.1 43.8 43.3
HEER m 2,410,499 2,439,290 2,464,895 2,489,008 2,512,488
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